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Ou	
  va	
  le	
  rechauffement?	
  



Ce	
  n’est	
  pas	
  le	
  soleil:	
  
Le	
  rayonnement	
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Une	
  (nouvelle)	
  argument	
  simple	
  
(sans	
  GCM’s)	
  

Global	
  Climate	
  Model	
  
(gros	
  modèles	
  de	
  
simula6on	
  numerique)	
  



Augmenta6on	
  de	
  la	
  temperature	
  moyenne	
  globale	
  
1880-­‐2004	
  

1900	
   1920	
   1940	
   1960	
   1980	
   2000	
  

-­‐	
  
-­‐	
  
-­‐	
  
-­‐	
  

0.8	
  
0.6	
  
0.4	
  
0.2	
  

0.2	
  
0.4	
  

T	
  (oC)	
  
(anomalie)	
  

1900	
   1920	
   1940	
   1960	
   1980	
   2000	
  
0.1	
  
0.2	
  
0.3	
  
0.4	
  

Log2 ρCO2 t( ) /ρCO2 ,pre( )

date	
  
2015	
  

Dec.	
  2012:	
  394.4ppm	
  
Mauna	
  Loa	
  

277	
  ppm	
  

297	
  ppm	
  

318	
  ppm	
  

329	
  ppm	
  

365	
  ppm	
  

391	
  ppm	
  

Concentra6on	
  du	
  CO2	
  
Augmenta6on	
  du	
  CO2	
  depuis	
  1880	
  

fo
rç
ag
e	
  



ΔT (oC)	


(anomalie)	



0.10	
   0.15	
   0.20	
   0.25	
   0.30	
   0.35	
   0.40	
  

-­‐	
  
-­‐	
  
-­‐	
  
-­‐	
  

0.8	
  
0.6	
  
0.4	
  
0.2	
  

0.2	
  
0.4	
  
0.6	
  

Log2 ρCO2 t( ) /ρCO2 ,pre( )

λ = 3.08± 0.91

1880	
  
290	
  ppm	
  

2004,	
  
373	
  ppm	
  

1945,	
  
311ppm	
   1975,	
  

330	
  ppm	
  

Nombre	
  de	
  degrés	
  C	
  d’augmenta6on	
  en	
  doublant	
  le	
  CO2	
  

La	
  Temperature	
  est	
  presque	
  linéaire	
  en	
  fonc6on	
  du	
  forçage	
  du	
  CO2	
  

Forçage	
  -­‐>	
  

GIEC:	
  3±1.5oC	
  oC	
  

“forçage”=	
  augmenta6on	
  de	
  l’energie	
  reçu	
  par	
  unité	
  de	
  temps	
  

Lovejoy	
  2013	
  	
  
(soumis	
  à	
  Nature	
  Climate	
  Change,	
  hier)	
  



1900	
   1920	
   1940	
   1960	
   1980	
   2000	
  

-­‐	
  

-­‐	
  

-­‐	
  

0.6	
  

0.4	
  

0.2	
  

0.2	
  

0.4	
  
T	
  (oC)	
  
(anomalie)	
  

Residue	
  =	
  Variabilité	
  naturelle	
  
Le	
  “forçage”	
  

du	
  CO2	
  

A
nt
hr
op

og
en

iq
ue

	
  (0
.8
5	
  
K)
	
  

Temperature	
  
du	
  globe	
  



20	
   40	
   60	
   80	
   100	
   120	
  

0.5	
  

1.0	
  

1.5	
  

Années	
  depuis	
  le	
  début	
  

T	
  (oC)	
  

1500-­‐1624	
  

1625-­‐1749	
  

1750-­‐1874	
  

1880-­‐2004	
  
(residues)	
  

M
ul6proxies	
  

1880-­‐2004	
  
temperature	
  	
  

Epoques	
  préindustriel	
  et	
  l’actuel	
  



Prévisions	
  et	
  Projec6ons	
  pour	
  2033	
  

ΔT (K)	



0.10	
   0.15	
   0.20	
   0.25	
   0.30	
   0.35	
   0.40	
  

-­‐	
  
-­‐	
  
-­‐	
  
-­‐	
  

0.8	
  
0.6	
  
0.4	
  
0.2	
  

0.2	
  
0.4	
  
0.6	
  

Log2 ρCO2 t( ) /ρCO2 ,pre( )

290	
  ppm	
  (1880)	
  

373	
  ppm	
  	
  
(2004)	
  

316	
  
ppm	
  
(1960)	
  

1975,	
  
330	
  ppm	
  

Moyenne 
glissante 5 ans 

0.45	
   0.50	
   0.55	
   0.60	
   0.65	
   0.70	
  

434	
  ppm	
  	
  
(2033?)	
  

394ppm	
  	
  
(2013)	
  

0.8	
  
1.0	
  
1.2	
   Projection avec 434ppm 

(≈2033)  

augmenta6on:	
  
≈0.35±0.03K	
  

Prévision pour 2033  
(+0.65±0.09 K en 20 ans) 

Temperature	
  
retard	
  de	
  20	
  
ans	
  sur	
  le	
  CO2	
  

 λ = 2.33±0.22

 λ =3.82±0.54
450	
  ppm	
  	
  
(2040?)	
  



Les	
  impactes	
  
	
  

Knum	
  et	
  al	
  2008	
  

Notre	
  méthode	
  simple:	
  
Pour	
  450	
  ppm:	
  
2.2±0.4	
  oC	
  
(0.6±0.15	
  oC	
  de	
  plus	
  qu’en	
  
2013)	
  

GIEC	
  =	
  Groupe	
  d'experts	
  Intergouvernemental	
  sur	
  l’Évolu6on	
  du	
  Climat	
  	
  



Les	
  incer6tudes	
  

“..à	
  cause	
  des	
  incer6tudes	
  profondes	
  surtout	
  par	
  rapport	
  au	
  cycle	
  hydraulique,	
  nous	
  ne	
  
pouvons	
  toujours	
  pas	
  éxclure	
  la	
  possiblité	
  que	
  le	
  changement	
  du	
  climat	
  anthropogènique	
  
serait	
  catastrophique	
  pour	
  l’humanité	
  pendant	
  21ieme	
  siecle	
  -­‐	
  	
  ou	
  plutôt	
  quelque	
  chose	
  
auquel	
  nous	
  pouvons	
  facilement	
  s’accomodé…”	
  
	
  

-­‐-­‐	
  T.	
  Palmer	
  Président	
  de	
  la	
  Societé	
  Royale,	
  2012	
  
	
  
“…due	
  to	
  profound	
  uncertain6es,	
  primarily	
  with	
  
the	
  hydrological	
  cycle,	
  we	
  are	
  s6ll	
  unable	
  to	
  rule	
  out	
  
the	
  possibility	
  that	
  anthropogenic	
  climate	
  change	
  will	
  be	
  
catastrophic	
  for	
  humanity	
  over	
  the	
  coming	
  century,	
  or	
  
something	
  to	
  which	
  we	
  can	
  adapt	
  rela6vely	
  easily…”	
  



Briser	
  le	
  lien	
  in6me	
  entre	
  	
  
croissance	
  économique	
  et	
  Carbone?	
  	
  

	
  

Le	
  defi:	
  	
  
À	
  l’aube	
  du	
  “troisième	
  ére	
  du	
  Carbone”	
  
(	
  les	
  “nonconven6onelles”:	
  	
  sables	
  bitumineux,	
  gaz	
  de	
  schiste	
  etc.)	
  

Décarboniser	
  	
  
	
  



Le lien CO2 et le PIB	
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Décarboniser	
  
	
  
-­‐	
  Avec	
  croissance	
  économique	
  
=	
  très	
  difficile	
  (impossible?!)	
  



Le	
  rôle	
  des	
  technologies	
  existants	
  versus	
  inexistants	
  dans	
  
differents	
  scenarios….	
  	
  (GIEC	
  4,	
  2007)	
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-­‐Avec	
  croissance	
  qualita6ve,	
  développement	
  
durable	
  

Décarboniser	
  
devient	
  aisée	
  

	
  
…pourquoi	
  la	
  croissance	
  quan6ta6f?	
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  (dollars	
  de	
  2010,	
  familles	
  économiques)	
  

Revenue	
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  impôts	
  median	
  2010:	
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Les	
  consequences	
  néfastes	
  
de	
  l’augmenta6on	
  du	
  PIB	
  

Produit	
  Intérieure	
  Brut	
  



Indice	
  de	
  Progrès	
  Veritable	
  (IPV)	
  

•  Le	
  IPV	
  est	
  le	
  PNB	
  (la	
  valeur	
  de	
  tous	
  les	
  biens	
  et	
  
services	
  produits)	
  moins	
  les	
  coûts	
  
environnementaux	
  et	
  sociales.	
  	
  

•  Le	
  IPV	
  sera	
  égal	
  à	
  zéro	
  quands	
  les	
  coûts	
  
financiers	
  de	
  la	
  pauvrété	
  et	
  la	
  pollu6on	
  sont	
  
égales	
  aux	
  gains	
  financiers	
  de	
  la	
  produc6on	
  
des	
  biens	
  et	
  services	
  (les	
  autres	
  facteurs	
  étant	
  
constants).	
  



IPV/capita	
  
(en	
  décroissance)	
  

GDP/capita	
  
(en	
  augmenta6on)	
  

Globale	
  



PNB	
  versus	
  IPV	
  

Le	
  plus	
  haut	
  le	
  PNB,	
  le	
  plus	
  
nous	
  sommes	
  pauvres!	
  



PIB,	
  IPV	
  au	
  Quebec	
  

L’indice	
  du	
  progrès	
  véritable	
  du	
  Québec:	
  Quand	
  l’économie	
  dépasse	
  
l’écologie,	
  Harvey	
  Mean,	
  eds.	
  Mul6Monde,	
  2011	
  



Les	
  implica6ons	
  de	
  la	
  croissance	
  du	
  
PIB	
  

-­‐  Le	
  forçage	
  radia6f	
  et	
  donc	
  réchauffement	
  ,	
  augmente	
  directement	
  avec	
  
le	
  PIB	
  

-­‐  Depuis	
  au	
  moins	
   le	
  milieux	
  des	
  années	
  1970	
   le	
  PIB	
  Canadien	
  n’a	
  pas	
  
augmenter	
  pour	
  80%	
  de	
  la	
  popula6on.	
  

-­‐  Depuis	
   1978,	
   l’empreinte	
   	
   Ecologique	
   Globale	
   /	
   capita	
   a	
   dépassé	
   la	
  
Biocapacité/capita.	
   	
   Depuis	
   2011,	
   les	
   humans	
   u6lisent	
   135%	
   des	
  
resources	
   qui	
   pouvont	
   être	
   généré	
   de	
   façon	
   durable	
   dans	
   un	
   an	
  
(Ecological	
  Footprint,	
  2011).	
  	
  

-­‐  Depuis	
  1976,	
  le	
  PIB	
  globale	
  est	
  relier	
  inversement	
  à	
  l‘IPV:	
  le	
  plus	
  que	
  le	
  
PIB	
  augmente,	
  le	
  plus	
  que	
  nous	
  devenons	
  plus	
  pauvre.	
  



La	
  difficulté	
  poli6que:	
  
	
  

Le	
  0.0004%	
  



“Alors	
  que	
  le	
  scenario	
  du	
  fin	
  du	
  monde	
  serait	
  remplis	
  d’horreurs	
  
inimaginables,	
  nous	
  pensons	
  que	
  la	
  periode	
  pre-­‐fin	
  du	
  monde	
  serait	
  
dotés	
  d’opportunités	
  de	
  profit	
  sans	
  précedent.”	
  



La	
  composante	
  
fortement	
  connecté	
  
(le	
  noyau)	
  avec	
  
1318	
  noeuds	
  et	
  
12191	
  liens	
  	
  

Les	
  ¾	
  du	
  noyau	
  sont	
  
controlés	
  par	
  des	
  
compagnies	
  
transna6onales	
  (TNC)	
  
appartenant	
  au	
  noyau	
  

S.	
  Vitali,	
  J.B.	
  Gla�elder,	
  S.	
  Bamston,	
  ETH,	
  Zurich,	
  ,	
  2011:	
  The	
  network	
  of	
  global	
  
corporate	
  control	
  (Arxiv.1107.5728v2[q-­‐fm.GN]19Sep2011)	
  

Le	
  réseaux	
  
Economique	
  

globale	
  	
  

(37,000,000	
  de	
  compagnies	
  
dans	
  la	
  base	
  de	
  données)	
  



Le	
  réseaux	
  économique	
  globale:	
  
Ce	
  n’est	
  pas	
  le	
  1%,	
  c’est	
  le	
  0.0004%!	
  

•  37	
  million	
  de	
  companies	
  

•  43060	
  Trans	
  Na6onal	
  Companies	
  (TNC’s)	
  dans	
  116	
  pays	
  
•  	
  	
  
•  Le	
  réseaux	
  les	
  connectés	
  à	
  600508	
  en66es	
  économiques	
  et	
  1006987	
  rela6ons	
  corpora6ves.	
  

•  Une	
  structure	
  en	
  “noeud	
  papillon”	
  (comme	
  l’internet).	
  

•  L’existence	
  d’une	
  composante	
  fortement	
  connecter	
  (noyau)	
  avec	
  1347	
  noeuds.	
  

•  ¾	
  du	
  noyau	
  est	
  posséder	
  par	
  d’autre	
  membres	
  du	
  noyau.	
  

•  Les	
  737	
  les	
  plus	
  riches	
  contrôlent	
  80%	
  de	
  la	
  valeure	
  totale.	
  

•  Les	
  147	
  TNC	
  du	
  noyau	
  contrôlent	
  40%	
  de	
  la	
  valeure	
  économique	
  mondiale	
  (=0.0004%	
  des	
  37	
  million	
  de	
  compagnies).	
  	
  	
  

•  45	
  des	
  50	
  les	
  plus	
  riches	
  sont	
  dans	
  le	
  secteur	
  financier.	
  

•  L’existence	
  du	
  noyau	
  démontre	
  la	
  dominance	
  mondiale	
  des	
  monopoles.	
  	
  Il	
  conduit	
  a	
  l‘instabilité	
  extrème	
  du	
  type	
  
“lame	
  du	
  couteau”:	
  	
  tout	
  le	
  noyau	
  ira	
  en	
  crise	
  en	
  même	
  temps	
  (comme	
  en	
  2008).	
  	
  



Conclusions	
  
1.  La	
  temperature	
  de	
  la	
  terre	
  augmente,	
  principalement	
  à	
  cause	
  des	
  émissions	
  du	
  CO2	
  et	
  

l’effet	
  de	
  serre.	
  

2.  Sans	
  modèles	
  compliqués,	
  nous	
  pouvons	
  es6mé	
  l’ampleur	
  du	
  réchauffement	
  depuis	
  1880:	
  à	
  
+0.85oC.	
  	
  Pour	
  l’avenir,	
  des	
  grands	
  incer6tudes.	
  

3.  Les	
  consequences	
  commencent	
  à	
  être	
  très	
  importants	
  à	
  par6r	
  de	
  +2oC	
  (vers	
  l’année	
  
2040-­‐2100…).	
  

4.  Limiter	
  le	
  réchauffement:	
  décarboniser	
  l’économie.	
  

5.  Difficultés:	
  
A)  Lien	
  très	
  serré	
  entre	
  la	
  croissance	
  économique	
  et	
  la	
  consomma6on	
  d’énergie	
  
B)  Benefices	
  du	
  PIB:	
  au	
  20%	
  les	
  plus	
  riches	
  
C)  L’Indice	
  du	
  Progrès	
  Veridique	
  (IPV)	
  diminue	
  avec	
  l’augmenta6on	
  du	
  PIB	
  

6.  Avec	
  développement	
  durable	
  (qualita6ve	
  et	
  non	
  pas	
  quan6ta6ve),	
  il	
  sera	
  aisé	
  de	
  limiter	
  la	
  
concentra6on	
  de	
  CO2.	
  	
  Avec	
  une	
  croissance	
  exponen6elle,	
  ce	
  sera	
  presque	
  impossible	
  car	
  les	
  
technologies	
  “propres”	
  n’existent	
  pas	
  encore.	
  

7.  Problème	
  fondamentale:	
  
-­‐	
  	
  l’economie	
  mondiale	
  est	
  controlé	
  par	
  “les	
  0.0004%”	
  
-­‐	
  Les	
  0.0004%	
  ont	
  fait	
  des	
  inves6ssements	
  collosaux	
  dans	
  la	
  “troisième	
  révolu6on	
  du	
  carbone”	
  (les	
  

	
  nonconven6onelles).	
  


